
 

Using a Calculator 

A 

√1.6 × 3.6 

 B √
2916

22

3

 

C 

(2 + 7)2 × 3.1 

D 
3
3

10
−
7

9
 

E 

2 + √−15625
3

 

F 

40 − 11

6.4 + 3.6
 

G 

3

8
+ 4

1

3
 

H 

4.5 × (−2 − 3)2 

I 

10 × (9.2 − 23)

52
 

J √
907.38

2
− 4.2 

K 

8.12

0.7 − 0.22
 

L 

1

0.252
 

M 
5
4

7
÷
2

5
 

N 

(4 − 5 × 2.2)2 

O 
(−

3

4
)
3

− √3.6 × 14.4 
P 

(8
2

7
+ 2

1

5
) × 7.15 

Round each answer to 2 decimal places where needed. Add together all 

your answers and round to the nearest integer to get the three-digit 

code. 


